Adv. No. 06/2016 Cat No. 29, Tracer (Agriculture Department Haryana)
Morning Session

Q1. was the military commander who conducted the Jallianwala Bagh
massacre in April, 1919.

A. General Peter Bailey B. General James Neill

C. General Samuel Hickson D. General Reginald Dyer

Q1. ag el Farst a1 Saa arde 1919 & SIfATTETeT awT ARAER FT IS fHaAT 1|
A. STelel dieX selr B. Seliel S1Fd oAlel

C. STeilel {3l fRraret D. STelel YTolelles 3%

Q2. In July 2017, has been appointed the coach for the Indian men's cricket
team.

A. Anil Kumble B. Virendra Sehwag

C. Ravi Shastri D. Tom Moody

Q2. s 2017 #, FY AR To¥ frde & &1 Fi fagwa fram arm &1

A. 3TfeT Feer B. diig dgameT

C. T e D. efH #qAY

Q3. Which of the following rivers does NOT flow into the west part of India?

A. Narmada B. Periyar
C. Krishna D. Tapti
Q3. 3aH A Fid W ) 9RT F TRH s19r F 7 TEA 82

A. wF#er B. 9RaR
C. om D. drecir

Q4. The scheme of the Union Government that provides crop insurance is

A. Pradhan Mantri Fasal Bima Yojana B. Pradhan Mantri Awas Yojana

C. Pradhan Mantri Garib Kalyan Yojana D. Pradhan Mantri Jan Aushadhi Yojana
Q4. g TIHR F1 AT § S BHT AT TeTeT Ft gl

A. JUTTHAT HHS SIAT Aratell B. WUTTHAT 3Tard Jlsfell

C. TUTTHA I HeIT0T ATl D. TUTAHAT o1 iy Jrsrer

Page 10f 34



Adv;.No. 06/2016 Cat No. 29, Tracer (Agriculture Department Haryana)
Morning Session

Q5. What did Lord Krishna preach before the start of Battle of Mahabharata?

A. Srimad Bhagawatha Purana B. Bhagawad Gita
C. Isavasyopanishad D. Aditya Hridayam
Q5. HETHRA HY TS YT &1 F Ygel STt FE0T o FAT 39aer foar 4r?

A. #iFe ST qRIoT B. sarge 3frr

C. Sraragfave D. 3T geaa
Q6. was defeated in the second battle of Tarain.

A. Prithviraj Chauhan B. Mu'izz al-Din
C. Govind Tai D. Jayachandra
Q. wEHgmdasddgmwawdl

A. JEERTST TtETe B. ST 3rT-&eT

C. Mfdg arg D. SiIeig

Q7. Which amongst the following is the largest Harappan site in India?

A. Rakhigarhi B. Bhirana
C. Banawali D. Kunal
Q7. 51H ¥ Fid, HRT H TIW T3T §3°UT TUA 82

A. TrEeTér B. foRmr
C. Setarelr D. Futer

Q8. Match the battles and the years and mark the correct option.

Columnl Columnll
A | The First Battle of Panipat I 1556
B | The Second Battle of Panipat I 1761
C | The Third Battle of Panipat 1l 1526
A. A-1I, B-III, C-1 B. A-III, B-I, C-II
C. A-1, B-II, C-III D. A-1, B-III, C-II
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Q8. =i 3R a¥ &1 FAae F 3 7 Reew F1 Rfgaa s

FaFe | FaFer I
A | arediag $r ggelr dss | 1556
B | uriiua &1 gadr &5 Il | 1761
C | greiag &hr T a5 1 | 1526
A. A-11, B-III, C-1 B. A-1II, B-I, C-1I
C. A-1, B-II, C-III D. A-I, B-III, C-II

Q9. Which is the 22" district of Haryana?

A. Rohtak B. Palwal
C. Charkhi Dadri D. Mewat
Q9. &R F1 2237 ST Fla @1 §?

A. Ugds B. 9oradl

C. =dr gredr D. #Hard

Q10. Which international woman wrestler is appointed as Deputy Superintendent of Police
(DSP) in Haryana?

A. Geeta Phogat B. Sakshi Malik

C. Babita Phogat D. Babita Kumari

Q10. & FARTET AR ggerarer Fr gRaron # Bl guRdde 3w gfew (Shoa.d.) fagsa B g2
A. 3T ®rere B. @mah A

C. ST Bl D. S&lidr FaA

Q11. Who is the famous badminton player from Haryana?

A. Sania Mirza B. Yuki Bhambri
C. Saina Nehwal D. P.V. Sindhu
Q11. gRmom # yfg dsfea o ia &2

A. qrferar s B. JhT arardy

C. qrs=T AgdTer D. dr. &r. Ry
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Q12. Haryana Government has recently announced pension scheme for journalists,
including a Rs 10,000 monthly pension scheme, for those who are above 60 years and have

completed ___ years of service in the profession.

A. 30 B. 25

C. 20 D. 10

Q12. gRATON TIFR o &Tel & H TFFRI F AT FereT At S aiwor Y §, FH@d 10,000 T3 A AfAF a1
Ao sh A @, T@sT AT F Rv g ehrsmeo sy afdwm iR dA A o quaw g5 &1
A. 30 B. 25

C. 20 D. 10

Q13. Bheem Award carries the cash prize of rupees.

A. 2 lakh B. 3 lakh

C. 5 lakh D. 1 lakh

Q13. 7 [EFR A TG HT e [TEHR A B

A. 2 &g B. 3 o™

C.5¢r@ D.1em™@

Q14. Who founded the Bhiwani Boxing Club?

A. Bhupinder Singh Huda B. Jasjeet Kaur
C. Vijendra Singh D. Jagdish Singh
Q14. AT FFhaTsll FoIa HT TATIAT fhaa 1 A2

A. a1fdex g ggs B. SI&Siid &R

C. [Joeg f&g D. swrerer &g

Q15. Which weekly magazine was launched by Pt. Neki Ram Sharma?

A. Sandesh B. Patrika

C. Samvad D. Samvedna
Q15. ufST Ak W garT B wrcarfes af¥eT @ amesr R rar ar?

A. Eer B. gy

C. Harg D. ®agaT
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Q16. Which script is written on Ashoka Stambh?

A. Devnagri B. Brahmi
C. Gupta script D. Urdu
Q16. e Fawer X frw fafdy & form arar 32

A. TRy B. sTEs
C. e faf D. 3§

Q17. Majjhima Nikaya and Divyavadana literature carry information regarding Haryana.
They are literature.

A. Haryanavi B. Bengali

C. Jain D. Buddha

Q17. AMRH e 3R Reumaes aiitcy & gRaom & I&f@a JI=er §1 arfeea &1
A. gRamorEr B. saTelr

C. 3= D. dig

Q18. Who among the following has made significant contribution to Haryanvi comic poetry?

A. Sunil Grover B. Surendra Sharma
C. Satish Kaushik D. Manish Joshi Bismil
Q18. Pl # ¥ fregiat gRTorE grew Hfaar # Aol Aerer R §2
A. T AR B. Tt% et

C. Hcirer i D. #FAy el fofeAer
Q19. Haryana has main geographical features.

A. Five B. Four

C. Eight D. Seven

Q19. gl & AEg stnfas Revam §)

A. g B. IR

C HIS D. @rd
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Q20. Aravalli ranges run on the part of Haryana.
A. North west B. East

C. North east D. South west
Q20. 3RTae TadATl gRITOT F amaT & Ry g1

A. 3o iREH B. q&

C.3eR @ D. afeor afRgs

Q21. Which of the following state is situated on the north of Haryana?

A. Himachal Pradesh B. Rajasthan
C. Uttar Pradesh D. Punjab
Q21. RN F 3cax # g4 ¥ Fid 1 =7 YT 82

A. fgATae weer B. TreTEATeT
C. 3ca 9e2r D. daTe
Q22. River Yamuna flows on boundary of Haryana.
A. Eastern B. Western
C. Northern D. Southern
Q22. R # HIAT 9T AT A ol &

A. gdt B. afegsr

C. 3calr D. gfarofr

Q23. Haryana lies between the latitudes of

A. 25° 38' to 30° 35' B. 27° 37' to 37° 36'
C. 24° 28" to 30° 36' D. 27° 37' to 30° 35'
Q23. &R aravielt & e Rua ¥

A. 25° 38' & 30° 35' B. 27° 37' & 37° 36'
C. 24° 28' & 30° 36' D. 27° 37' & 30° 35'
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Q24. Who is the constitutional executive head of India?
A. President of India B. Governor

C. Union Minister D. Prime Minister
Q24. #RA & HIANAF FREAFR T FleT 52
A. AR & Tsgafa B. I=gdTel

C. herg 7 D. TeAHEY

Q25. Who among the following appoints the Chief Justice of Supreme Court?

A. Vice President of India B. President of India

C. Prime Minister of India D. Home Minister of India
Q25. T FIE F HET =Arreier Fi AyfFa wla w1 82

A. IR & 3RrSgufa B. #IRT & Isgufa

C. #Rd & JuTaTal D. $Rd & g

Q26. Which of the following amendment was passed during the period of emergency?
A. 43rd amendment B. 40th amendment

C. 42nd amendment D. 45th amendment

Q26. ITUTAHT $Y AT & SRIeT g1 ¥ FieT A1 T T foFam T a2

A. 43a7 HeerT B. 40ar HaereT
C. 42a7 weers D. 45ar Hlee
Q27. Haryana ranks in cattle breeding in India.

A. Third B. First

C. Second D. Fifth

Q27. 9N # Y Yoot A ghaATom FYTT W &I

A. drar B. ggell
C.gaq D. gt

Page 7 of 34



Adv. No. 06/2016 Cat No. 29, Tracer (Agriculture Department Haryana)

Morning Session

Q28. Haryana Board of Education is situated in which district?

A. Bhiwani B. Rohtak
C. Gurgaon D. Ambala
Q28. ghamm Rran a1 fFw o § Rua #2

A. faaref B. Vs
C. I[z9Td D. 3FTel

Q29. Virendra Sehwag started "Sehwag International School" in

A. Sonipat B. Rewari

C. Rohtak D. Jhajjar

Q29. ¥R wgamT A g F H "HEATT ST TH" YE AT
A. Brsfrad B. Yarsr

C. Ugds D. 3TooR

Q30. Pick the odd one out:

Wood, Table, Chair, Cupboard

A. Wood B. Table

C. Chair D. Cupboard
Q30. 3HId FT TIT F:

A. TIhar B. &gl

C. df D. 3ed@RY
Q31. Find the analogy.

DOG : GOD :: LEAP :

A. PEEP B. PAEL

C. PEAL D. EALP

, Haryana.

Page 8 of 34



Adv. No. 06/2016 Cat No. 29, Tracer (Agriculture Department Haryana)
Morning Session

Q31. WA &I

DOG : GOD :: LEAP :

A. PEEP B. PAEL
C. PEAL D. EALP
Q32. Find the missing nhumber.

8, 13, 23, 38, 58, ?

A. 53 B. 61
C.72 D. 83
Q32. ufPyd H&aT AT |

8, 13, 23, 38, 58, ?

A. 53 B. 61
C.72 D. 83

Q33. If ROSE is written as OLPB. What will be code for LILY?

A. IFIV B. IVIF

C. FIIV D. FIVI

Q33. Ifg T FI13 #9T # ROSE & OLPB @1 ar3m § af LILY F 47 fo@r Sreen?

A. IFIV B. IVIF
C. FIIV D. FIVI

Q34. Shikha is 5 years younger than Shalu. Four years later, Shalu will be twice as old as
Shikha. Find the present age of Shikha.

A1l B. 2
C.3 D. 4

Q34. T, Ao & 5 A B 7| TR WA a1, ATe] T 37 @ i 337 ¥ AN g Sweah| Rram F aaa1wr 37
et 2

A1l
C.3 D. 4
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Q35. Which of the following statements about probability are true?

A.0>PE)<1
C.O<PE)>1

Morning Session

B.O<P(E)<1
D.O>P(E)>1

Q35. FHTETAT & I A Arfaf@d aadeat & @ wi7 91 aodeg g7 &2

A.0>PE)<1
C.O<PE)>1

B.O<P(E)<1
D.O>P(E)>1

Q36. What percent of 10000 is 2?

A. 0.5%
C. 0.02%

o8]

. 0.005%
. 0.002%

O

Q36. 10000 FT e yfaera 2 ghm?

A. 0.5%
C. 0.02%

o8]

. 0.005%
. 0.002%

O

Q37. The profit made by selling a clock was Rs.1200. Find the selling price of the clock if it
was sold at double the cost price.

A. Rs.2300
C. Rs.1400

B. Rs.2000
D. Rs.2400

Q37. T% g a9« W 1200 ¥ ST 3T i U3t F FT AT A N[ AT 9T 39T 47 AT oY 031 1 AT qoT

e ar?
A. 2300 9

C. 1400 ¥93

Q38.
A. Celsius

C. Kelvin

Q38.
A. afcoag
C. &feas

B. 2000 9

D. 2400 93

is NOT the unit of temperature.
B. Fahrenheit

D. Pascal

AIATT FY SH1E 8T B
B. BRAGIST

D. 9r&hel
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Q39. The full form of LPG is

A. Liquefied Petroleum Gas B. Low Petroleum Gas
C. Liquefied Polymer Gas D. Low Phosphorus Gas
Q39. wa.d.3f. FT U A gl

A. RfFawrss deifoms g B. o derforas g

C. RfFawEs uifed T D. off BEHPRY I

Q40. is the branch of agriculture that deals with the breeding and raising of
livestock.

A. Animal husbandry B. Domestic agriculture
C. Livestock training D. Animal farming
Q40. FI 1 amar ¥ S e F goere AR ree-aeor § e 3
A. gR[aTeTe B. | FW

C. gepere gfvafor D. T ¥

Q41. is the synonym of "COMMOTION".

A. Quite B. Calm

C. Peace D. Uproar

Q42. is the antonym of "PROBLEM".

A. Disease B. Solution

C. Painful D. Risky

Q43. Identify the meaning of the idiom,

"Above all.”
A. Presently B. Speedy
C. Mainly D. Properly
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Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

"On way to home, I meet Meera and her daughter.”

A. On my way to home, I met Meera and her B. On my way home, I met Meera and her
daughter. daughter.

C. On way to my home, I met Meera with her D. On my way to home, I met Meera and the
daughter. daughter.

Q45. Complete the sentence by choosing the correct word.

The documentary on the war was misleading but the book was
A. accurate B. interesting

C. very short D. false

Q46. i fr@ 2reg FT YITHATE g TS|

arfr
A. gdr B. 3faT
C. afaar D. et

Q47. faw= arsg &1 Rl (Rehe) aref sarsy |

STIROT
A. et B. 3l i

C. 3MerEd D. ¥pfct

Q48. i fard spgTay F71 3R e Fad |

e W FATSAT 351

A. HH3IY TS gl B. & 8fel ST

C. T8 T el D. S SATAT AT °&:T AT
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Q49.ah?}mam$ra§aa:raaﬁ|

qar
A. g@r B. g@mv
C. 9@ D. 9&

Qso.mmammagamm|

Flam
A. HIT B. &iT
C. & D. i3

Q51. In Technical Drawing of small machine parts, we enlarge the actual size of the object.
This is called drawing to .

A. Rules B. Scales

C. Measure D. Mapping

Q51. 7afie & oR-vR fewl F e ReiFa #, 70 avg ¥ IEdRF FHR F 737 FF Raw § 5w
&1 RraieeT Fg1 SATeT 8

A. TR B. YA

C. dA™ D. AT

Q52. Which of the following is NOT a scale that is used in engineering practice?

A. Half size scale B. Full size scale

C. Reduced scale D. Enlarged scale
Q52. rafaf@a # & #ia, FhfAaRer & suAhr frar st aren v e a8 82
A. 3TY 3THR HT JATAT B. 9T 3R T JATAT
C. &H YT D. 3T YATem
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Q53. Which of the following shows objects in standard reducing proportion (Standard
Reduced Scale)?

A.1:1 B. 1:5

C.5:1 D. 0.5:2

Q53. frafaf@a # & Fla, awqal F ATF FYAFT IS (FTF TGP o) F fe@rar 2
A.1:1 B. 1:5

C.5:1 D. 0.5:2

Q54. 5 centimetre length of line drawn on a sheet represents actual length of 5 metres. The
Representative Fraction (R.F.) is:

A. 50:1 B. 100:1
C. 1:50 D. 1:100

Q54. T% ofic W Eih 7 5 T aFl @1 aeaa & 5 #Hiex aw W@ w1 gt & @ &1 sfRAts @
(3R.TF.) &:

A. 50:1 B. 100:1

C. 1:50 D. 1:100

Q55. The scale is used to show length in three consecutive units.

A. Diagonal B. Comparative

C. Plain D. Isometric

Q55. AT FT ITANT TIMAR AT SH13AT A o1 F @ & AT fFar Frar g1

A. @0t B. Jelellca®

C. gAdd D. AAST

Q56. To draw a perpendicular bisector of a line AB, takeanyradius(R)__ and then
draw arcs from A and B as centres such that they intersect each other.

A. Lesser than half of AB B. Equal to half of AB

C. Greater than half of AB D. Equal to AB

Q56. T Y@ AB &I U& wFaad gfasierd dhaa & g, et sft = (R) M S 3k Fg &
& A 3R B ¥ 30 ¥R A9 i % & G4 v q@ F) F1ed §u |

A. AB & 3T & HFA B. AB & 3MY R¥ & SRIsR

C. AB & 3er & 31fae D. AB & &Y
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Q57. What can you say about the circle in this image?

A. Inscribed B. Outerscribed

C. Escribed D. Circumscribed

Q57. v A # @ & I g & AR H T FAT FF WFA 82

A. 3ideg fFar I § B. STegeg fhar IR §
C. 3fgag fFar = & D. uReg fhar = &

Q58. To construct a regular pentagon, we can use a combination of:

A. Set square and compass B. Protractor and compass
C. Set square and mini drafter D. Mini drafter and compass
Q58. % AT Tas aa F AT, g T & FAISTT FT ITAT T FHA 8

A. 8T TR AR FFa B. WigereX 3R FHFarg

C. ¥c TR 3R f&e grex D. A 3roex 3R Feurg
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Q59. Refer the given image.

You can inscribe a regular within the circle.

A. Hexagon B. Pentagon

C. Triangle D. Cannot inscribe a polygon
Q59.

T 7T o Y &

39 geat & e v PafAa F IAdE F T 1
A. YIS B. geefst
C. fregar D. U 9§l 3icAeg =Te1 & Hehell
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Q60. v
Refer the given image.

The radius of the circumscribed circle is

A. half the length of the length of a side of the
regular hexagon

C. twice in length to the length of a side of the
regular hexagon

G F
A 0
H [ 4
Q60. "
o 7w R+ |
IReg ged HT B |

A. AR 3T T Ta 3T Y oiarS o el @el ¥
C. e w3t 1 U S7alT Y FaTS T AT e ¥

B. equal in length to the length of a side of the
regular hexagon

D. two-thirds in length to the length of a side of
the regular hexagon

B. TAaIffcT weehlor &1 Ueh §[aT 1 olells o sRTeR glell &
D. fAaffa STHor i va $7aT T ofars A ar feTs el
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3

Q61. In the given image, what can you infer about the area of AABC?

A. Area of triangle ABC; and area of triangle B. Area of triangle ABC; and area of triangle

ABC; are equal but less than area of triangle ABC. ABC; are equal but more than area of triangle
ABC.

C. Area of triangle ABC;, Area of triangle D. Area of triangle ABC; and area of triangle ABC

ABC; and area of triangle ABC are equal. are equal but area of triangle ABC; is lesser than
them.

Q61. Ru at RT #, 317 AABC ¥ 19%d & a # F4T [Ashy AFra aFa 82

A. T381T ABC; T &19ther 3R TX87sT ABC, T &Tthel B. T¥3sT ABC; T &%l 3R 81T ABC, T &1Fthe

SRISR ¢ olfehet 37T ABC & &19%hel & %A B SRISR ¢ olfehet 37T ABC o &1%hel & 3ifeieh ¢
C. 33T ABC; &1 &19%hel, F3sT ABC, &I &1l 3R D. 3371 ABC; T &1athel 31 3{sT ABC T &1thel
38T ABC T &1thel SIsX & SRISR g olfehat 37T ABC, &I &1Tthel 318 A &

Q62. If you were to construct an isosceles triangle equal to the area of square which is 25
m2, then, what will be the height of the constructed triangle if its base was the same as the
side of the square?

A.5m B. 25 m
C.10m D.12.5m

Page 18 of 34



Morning Session

Q62. I Ty 25 9 HIET FTHe AT T3 & AAHA & TG T FH AaTg ST Ftrett g af 37 Frsger A Fné
et gl afe 3wt ImuR 79 F IR F FA 82

A.5# B. 25 #r

C. 10 #r D. 12.5#r

Q63. Refer the given image.

Which of the triangles in this image has an area equal to the area of triangle EBD?

A. A ABE B. A EBC
c. A ABD D. A EAD
Q63.

T v R Y

3w 2 F forw Biegsr 71 aawa, fefsr EBD & &tahd & aTar 8?2
A. A ABE B. A EBC
Cc. A ABD D. A EAD
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Q64. A quadrilateral with one pair of parallel sides is:
A. Square B. Rhombus

C. Parallelogram D. Trapezium
Q64. TF NS FATATAT 13T ATelT T TISr &I &:

A. T B. @t

C. HATACR T8t D. H&eid st

Q65. The line from the center of the pentagon to a side, intersecting the side at a 90° right
angle is

A. Radius B. Apothem
C. Half diagonal D. Radial

Q65. THE[S & &g ¥ 3T TF [T aF UH TW@T Wiaal W, I TW@T 39 1 F 90° & FABIVT W FIed ¢, 37 3@l
L2l Fed Bl

A. B=ar B. T A
C. 3err fgerot D. g

Q66. The conic section that has two branches is

A. Hyperbola B. Parabola
C. Circle D. Ellipse
Q66. &Y A3 ITeT AFATHR @S A g1

A. sfaqaer B. Waer g
C. g D. &rdged

Q67. Find the midpoint of the segment with these two endpoints (-5,7) and (7,3).

A. (6,5) B. (-2,10)
C. (2,3.5) D. (1,5)
Q67. a1 a 3ifaer Rigaw (-5,7) 3R (7,3) T w3 1 #7ey g A F
A. (6,5) B. (-2,10)

C. (2,3.5) D. (1,5)
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Q68. The conic section that has a directrix is

A. Hyperbola B. Parabola
C. Circle D. Ellipse
Q68. TF AT aTel AFATHR @S g &

A. JfaRaer B. Waerd
C. ged D. &réigea
Q69. A parabola has vertex/vertices.

A.0

C.2

Q69. T& Waag & /w1 @ &l

A.0

C.2 D.1

Q70. Which of the following is NOT a type of asymptote?
A. Horizontal B. Vertical

C. Oblique D. Circular
Q70. 3 ¥ Fid, T YHR 1 AAqdeqelf agi &2

A. 8ifast B. 3EaTeR
C. fawer D. ek

Q71. In a sectional view diagram, the dotted lines indicate

A. Scaled parts of a huge object B. Enlarged part of a miniature object
C.. Interior parts of hollow objects hidden from D. Plane sections of the object

view

Q71. T FIHENT ToF Y@ A, Rider Y@ I geTelt ¥

A. T 3T aF] & A 10 et B. s 3ifd g&H a&q & 37 v aIv jeq &t

C. @S & e drel, Wl a&3il o TR TGN H  D. T&J & ool eI I
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Q72. When drawing Section lines, only the parts actually cut by the section plane are cross

hatched with a thin continuous line drawn at to the major outline of the object.
A. 45° B. 90°
C. 135° D. 60°

Q72. AT YWIT Wi FHY, aEdd # A ITr de ZaRT FIE T AT RER ), a6 A 9@ FR@Er
R @it 7§ v garel AR Y@ & |y giEre a9 §

A. 45° B. 90°
C. 135° D. 60°

Q73. Section A-A Cross-hatching

Refer the given image. This shows a view.

A. Half sectional B. Full sectional
C. Off-set section D. Circular section
Q73.

Section A-A N ‘ross-hatching
e av T Y ¢ | guHA v Ty fq@mar a4 8
A. 3 TN B. qof rgemmaiar
C. 3Th-Je 3reTHTeT D. eI 3FefeTaT
Q74. In Technical Drawing, a half section shows of the part.
A. one and a half B. one-third
C. one-fourth D. one-sixth
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Q74. aFsiihr Rt #, Ta T T #TeT Y @ B
A. 3% B. & fags
C. T Hterg D. aat s

Q75. When it is required to include features that are not in a straight line, the cutting-plane
line may be bent so that several planes and curved surfaces are included in the diagram.
This is

A. Full section B. Revolved section

C. Rotated section D. Offset section

Q75. 3 W@RT # WY TgA13T FY anfAer FIT yzar § S v Hier Y@ & At § O Fer-ad 3@ F AT ST qhar

¥ aIfF #¢ gHae 3R aF Fagl F W@ & afde o aF Iw gar gl
A. qoT 37t B. IRIA Jregsirar
C. foTd 3fefemar D. e Fagstrar

Q76. When creating the isometric drawing of a cubic box, the sides of a box are drawn as

vertical lines, but all horizontal lines aredrawn at _______ to the base line.

A. 45° B. 30°

C. 60° D. 75°

Q76. TF HATHR (FH HT FATAT YT@IRAT Tl WA, U aiaq At s[anait w1 seate Y@t & w9 F diar smar g
AfFe waft Aifos W@t F R @A W i e @

A. 45° B. 30°

C. 60° D. 75°
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Q77. .
Refer the given image.

What can you infer about the axes AB, AD, and AE?

A. These are complimentary axes B. These are isometric axes
C. These are circular axes D. These are trimetric axes
C
D
B
H
F
Q77. ;
T It R+ a4

3T 3187 AB, AD, 31X AE & I & Fa1 fsy farehrer Tt 82
A. T T FHeT g B. ¥ wAfAMT 3787 &
C. ¥ MR 38T & D. ¥ A a7 §

Q78. In AutoCAD, isocircles refers to
A. Isometric Circles B. Isometric Ellipses

C. Trimetric cylinders D. Fillets
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Q78. 33 &, FHgcal 1 Adew gar 2l
A. FATAART gad B. AT reiged
C. Bfad so= D. ufger

Q79. When creating an isometric projection of a cube, the faces gets foreshortened and
appear as

A. Circle B. Ellipse
C. Rhombus D. Rectangle

Q79. T& UH & UHh FATANT NI F1 AT Fd 7T, IAa & 4191 3R g 9 a9 a9ra @ 3k
T e ffw$ &= woret §

A. ged B. &Eged
C. mﬁ?orsisr D. 3mad
.
D,
B
H
i
Q80. E

Refer the given image.

Which of the following lines is a non-isometric line?
A. BD B. CB
C.CDh D. EF
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Qso. F
R v R =Y &9
AT & @ Fia @ @, wF -wafadw @z

A. BD B. CB
C.CDh D. EF

Q81. In a hyperbola, parabola, and an ellipse, the ratio between the focus and the directrix
is called .

A. Symmetry ratio B. Directrix ratio

C. Asymptode D. Eccentricity

Q81. % Ifawaey, Waew, 3R ve Qrigea #, Fx [ R fgar & i & srqara #t T AT B
A. FAAS 3feqara B. fagar rgara

C. 3feiceaeff D. faehger

Q82. You are to draw the projection of the cone that has a base diameter 50 mm, axis
height 60 mm. The F.V of the cone will be a

A. Triangle B. Circle
C. Ellipse D. Parabola

Q82. IIH! TF A4F F NI T Y@IAT q1a ¢ e IR 1 sqrw 50 ey 3k arar 1 5975 60
freiefier 81 oF #1 .. g

A. Bsrer B. ged
el c
C. &reged D. Raerd
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Q83. A cone of base diameter 50 mm, axis height 60 mm is cut by a horizontal section plane
which is at a distance of 35 mm from the apex. You are to draw the projection of the cone.
Refer the given image.

X Y

The horizontal section plane will be at 35 mm

A. Above XY and parallel to XY B. On XY and perpendicular to XY

C. Below the apex and parallel to XY D. From the left vertex and perpendicular to XY

Q83. oY g ¥ 35 AeiHIeT A gft W R v aifarsr repemmer aa & § v 4F Frea? fAswran a1 § s amur
F1 5ar| 50 Aefefiey 3k arat i 31§ 60 AHIT 71 3MHT 397 4F F WSt F1 Y@ @iwen g v v &
Ea kel

X Y

s aregemmar e 35 fAeffier T ghm

A. XY & HATAIAR 3R XY & 3R B. XY & of&dd 3R XY I

C. XY & F#IcR AR M foig & =y D. XY @ sigad 3R a7 Raw @
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Q84. A plane that is perpendicular to both the horizontal and vertical plane is

A. Auxiliary Inclined Plane B. Auxiliary Vertical Plane

C. Auxiliary Horizontal Plane D. Auxiliary View Plane

Q84. & ger it Aifasr 3R FeateR &Y el 9T o ad Rua §, 3@ &gl AT ¢
A. g 37deTd dol B. WgI& AT dol

C. TegIs afast aa D. G 7T del

Qss.

Refer the given image that shows the sectional top view of a solid.

Which of the following is NOT TRUE about the given image?

A. A square pyramid stands on its base on H.P. B. A rectangular pyramid stands on its base on
V.P.

C. A section plane L to V.P bisects the axis of D. A section plane L to V.P. and inclined to H.P.

pyramid. bisects the axis of pyramid.
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v v T &t & Forwet v ol & arepemeitr oftd e Y R aram &1
v av o & ar 7 oot & @ Fl &1 Fuer wdh 7 2

A. T TR TS, H.P. WX 379e) 3R 9 @sT 81 B. Teh 3R RRIfAS, V.P. WX 379+ 3TeR W @ 2|

C.V.P. W L U 31T O, FORIfAS & 3187 &t D. V.P. ®¥ L 3R H.P. 9T 37delcl Teh 38Tl ofel,
gfasfara & gl Aifas & 31e7 A gfenfaa sar &1

Q86. An oblique solid has its axis to the base.

A. Inclined B. Parallel

C. Horizontal D. Any of the above

Q86. TF A& 3 FT 3787, ITUR W g 81

A. ST B. AR

C. aifasr D. 3RIFd H & Fis oY

Q87. The shape resulting from a vertical cross section of a solid cylinder will be:

A. Circle B. Ellipse

C. Rectangle D. Parabola

Q87. T 31 I & FEaATeR IR AT F IRUmATawd e arel arsfa ghft:
A. g B. &réiged

C. 3mrad D. Wdela
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Q88. A prism is a polyhedron with parallel, congruent base(s).
A. One B. Two

C. Four D. Six

Q88. TF A=A mﬁt,ummﬂﬁwww%l

A. TH B. ar

C. IR D. &:

Q89. The obverse of an orthographic projection is projection.
A. Parallel B. Perpendicular

C. Oblique D. Multiview

Q89. T rUfafhe TSI FT 3RSHET geiRre B

A. AR B. Fgad

C. fazer D. §geed

Q90. A hexagon has sides 's' centimetres and 'h' being the distance between the centre of
the hexagon to its side. This hexagon needs to be replaced with a triangle having the same
area. The height of the triangle drawn will be:

A. h B. 2h

C. 4h D. 6h

Q90. TF YT F M3 Y FFaTs 's' WA 3N weoeT & &g vd 3WH oAl & g A gl 'h' ¥ 3W v A
ST U AT &I aTell U X7 Fattent ¢1 39 feqer & Seng fraett ghaf?

A. h B. 2h

C. 4h D. 6h

Q91. Which one of the conic section has a directrix?

A. Parabola B. Hyperbola
C. Circle D. Ellipse
Q91. oiF ¥ forw Jregemer # v forya el 32

A. T B. 3tfawaey
C. gea D. &réged
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Q92. In orthographic projection, if you need to project the top view, then the view is
projected on the plane.

A. Vertical B. Horizontal

C. Inclined D. Base

Q92. situfanfre dorFera &, I} ofif T # Wioiae FET A A 3T T A I I Aeiee fFar
ST B

A. 3taTtR B. &ifasr

C. 3qdd D. 3R

Q93. According to Principles of Dimensioning, a dimension line should never coincide with a

line.
A. Vertical B. Horizontal
C. Center D. Radial

Q93. I ¥ Rl & TR, TF AW @1 Fi F3ft off v T ¥ 78t e TRl

A. 3EaTER B. affas

C. %g D. e

Q94. You have to show the contours of complicated shapes, such as the wings and fuselage

of an airplane, in your drawing. Since the parts have continuously varying shapes, you
should use the

A. Aligned section B. Full section

C. Revolved Section D. Removed section

Q94. 3TuF! 39« Y@ # e arFfaat A Tar feawh 2, S vF e & g 3k e 9fF sad s A
AR freer-fieer srfaat @i § safow smoe T 3YANT HIAT TR

A. TS e B. quT 3fegatrar

C. IRHAT 3rgemar D. forsehrf@el 3regsirar
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Q95. Identify the rules for cross-hatching.

Rule 1: Use a series of parallel lines (type B) drawn at 45 degrees and evenly spaced about
3mm apart.

Rule 2: Do not draw hatching lines parallel to one or more sides of the object. Use another
angle.

Rule 3: Adjacent parts that that are assembled together have the hatching lines running in
opposite directions.

A. Rule 1 and Rule 3 only B. Rule 2 and Rule 3 only
C. Rule 1 and Rule 2 only D. Rules 1, 2 and 3

Q95. HIH-2RT F AT F ygu|

e 1: 45 Bt w3k v wA w7 F wensner 3 Feliefier i g W Eih ¢ gaTeR W@t (esv B) fr e
AT FT T2 F

o 2: avq 1 v a1 3T s F FAER 2R Y@ o @ik gy Hor F 39T #)

e 3: v W v Pweadt st # ¥R Y Rl Renst F s §)

A. Fae fagd 1 3R 9w 3 B. aer s 2 3R s 3

C. Fad fags 1 3k [z 2 D. @@e 1, 231k 3

Fig: Projection of Plane

@"Q

Q96.

The given image shows the angle of Projection.
A. First B. Second
C. Third D. Fourth
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Fig: Projection of Plane

@’." Q

Q96.

e 7w Ry & NeweT F Fior F1 fG@mr = g

A. Tgel B. g
C. dray D. It

Q97. The real or imaginary line of intersection of a plane with the HP is called horizontal
trace of the plane. HT is always located in the

A. Top View B. Front View

C. Horizontal View D. Both Top and Front views

Q97. HP & WY U dol & Held $Y aIEdfa® qT Heqfasd I@T HY dol HT AfAeT AT Fer SI1ar &1 HT gaen
# Rya gar g

A. i Tog B. TT#= &7 T

C. &fas zem D. ¥ 3R gre=t gt e

Q98. A line inclined to Vertical Plane (VP) and parallel to Horizontal Plane (HP) has
trace and no trace.

A. Horizontal, Vertical B. Vertical, Horizontal

C. Horizontal, Inclined D. Inclined, Horizontal
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Q98. 3taftR dd (aféFhd e AT VP) W 3aad 3R &ifas a« (giiieeer T a1 HP) & THATGR T @1 &

fena giar & ik FE frermer 7Y gar 21
A. FEETeR, aifas B. &ifas, Feaner
C. &ifast, 3raeia D. 31g=id, &fasr
Q99. A revolved section is made by revolving the cross-section view about an
axis of revolution and superimposing the section view on the orthographic view.
A. 45 degrees B. 60 degrees
C. 90 degrees D. 180 degrees

Q99. 3itufaTihas TeF X ITHTT T2F FT IraRafcd FIF R IRFHOT 3187 ¥ TR-IHTHT T Y AT
AR T IRFAT e daR B simar g

A. 45 f3af B. 60 f3af

C. 90 f3air D. 180 f3afr

Q100. A section allows the drafter to create a Cutting Plane line which is not in a
straight line across the part.

A. Full B. Half

C. Offset D. Broken out

Q100. T FTSHTT FFE FI T FelT-TAA TGN IR FI&A Y IeqaAfar & g it g amor F vap alveft
Fag a2

A. ot B. 3ref

C. 3ae D. @fsa
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